LOCAL BASKET"

Front or Rear Rack
# 7079140

Front

2 x — Extenders / Rallonges
Qg//// 300mm

2 x @ Cam Lock / Verrou a came / Zylinderschloss

2 x @v Eyelete / (Eillet / Ose

/ /
2x @ Konkav-Unterlegscheiben

2 x Seat Stay Clamp - Smaller / Attache de hauban - petite /
Sattelhalterungsklemme - klein

2 x Z;@ Seat Stay Clamp - Larger / Attache de hauban - grande /
- Sattelhalterungsklemme - groB

2% [$ Nylock Nut / Ecrou / Mutter

2 x § Swivel Bolts / / iegel
18mm M5

2 x § Swivel Bolts / i / ieg
25mm M6

2 x (& Bolts/Boulons / Bolzen
@ 16mm M5

STEP 1. ASSEMBLY: Assemble the two struts and
basket as shown. Either configuration may work for front
usage, however, the basket requires at least 20mm of
clearance from the fork or bike components. Do not
tighten set screws on basket.

STEP 2. ATTACH STRUTS: The lower mount of this
rack is designed to attach to bicycle using either M5
bolts (Option 1) or with an extra long quick release (not
included, Option 2).

Option 1.This option allows for the fitment of rack if a
lower rack mount is available. Slide rack struts to fit on
the outside of the bike frame. Attach rack to lower “rack
mount” with supplied M5 bolts. Do not fully tighten.

Option 2. This option allows for the fitment of rack
if a lower “rack mount” is not available. Remove
quick release. Slide rack struts to fit on the outside of
the dropouts. Install extra long quick release through
the lower mount and bicycle hub. Follow your bicycle/
wheel manufacturer recommendations for removing and
installing quick release or have a qualified bicycle shop
replace it for you. Tighten basket set screws to lock
sliding struts in place (torque = 6-8 Nm).

STEP 3. ADJUST HEIGHT: The lower mounts allow for

[FOPRNPNPPYY .

L . .

STEP / ETAPE / SCHRITT 2—Option 1

STEP / ETAPE / SCHRITT 4—Option 1

=0 @ =

I
Cmc;‘\;er M5 Swivel Bolt
Rondelle Boulon M5

Concave

Orientables

M5-
Unterlegscheibe Schwenkriegel

M5 Bolt
Boulon M5
M5-Bolzen

Concave
Washer

Rondelle
Concave

Konkave
Unterlegscheibe

M6
Swivel
a® Boon 6
oulon
h ““(0 Orientables
M6-

M5 Bolt | chwenkriegel

Boulon M5 T S S 7

Ms5-Bolzen r

STEP / ETAPE / SCHRITT 2—0Option 2

Extra Long Quick Release
Déconnexion Rapide Extra-longue
Extralanger Schnellspanner

Vinyl Clamps

(For bikes without braze-ons)
Attaches en Vinyle

(Pour bicyclettes sans points
d'attaches brasés)

M5 Swivel
\ Bolt

Nut Boulon M5
Ecrou Orientables
Mutter M5-Schwenkriegel Vinylschellen
(Fiir Réder ohne Anldtteile)

optimization of the height of the rack to accommodate
different wheel diameters. There are five height settings
that allow the rack to move up or down. To adjust the
height, remove the flat head M6 bolt on each side of the
lower mount. Slide the rack up or down and reinstall the
flat head bolt (torque = 3.5-5 Nm) on lowest setting that
allows at least 20mm between the tire and rack.

STEP 4. ATTACH EXTENDERS: There are three options
available to attach the extenders depending on the
bicycle setup.

Option 1. For bikes with seat stay or fork “rack
mount.” Place the cam lock onto one side of the rack
strut and slide the extenders through the cam lock holes
with the straight end toward the bike. Attach the extender
to the frame or fork “rack mount” using the supplied M5
swivel bolt and concave washer. Do not tighten. Adjust
rack until top is level with ground by sliding it on the
extender. Once level, tighten cam lock bolt. Repeat this
step on the other side of the rack strut.

Option 2. If Option 1 is not available, then use the
cantilever brake mounts. Remove the eyelet from the
straight end of the extender and install on the opposite
end with 90 degree bend. Place the cam lock onto one
side of the front rack strut and slide the extender through

the cam lock holes with the 90 degree bend end toward
the brake mount. Remove the bicycles cantilever brake
mount bolt and attach the extender to the frame brake
mount using the supplied M6 swivel bolt and concave
washer. Do not tighten. Adjust rack until top is level with
ground by sliding it on the extenders. Once level, tighten
cam lock bolt (torque = 6-8 Nm). Repeat this step on the
other side of the rack strut.

Option 3. For MTN & Recreational bikes. If Option 1
and 2 are not feasible, then use vinyl coated seat stay
clamps (2 sizes included). Attach with M5 Swivel bolts
and nylock nuts.

STEP 5. TRIM EXTENDERS: Mark each of the
extenders approximately 10mm behind the cam lock.
Remove the extenders one at a time and cut at the mark
with a hacksaw or pipe cutter. Gently file any rough
edges from cutting the extender. Reinstall the extenders
following the instructions in Step 4.

STEP 6. TIGHTEN BOLTS: Tighten each of the bolts
attached during the previous Steps according to the bike
and/or component manufacturer’s specifications.

Go to www.blackburndesign.com for video and updates

on this document.
LIFETIME
WARRANTY

AWARNINGS: Periodically check all nuts and bolts for tightness. Check the geometry and strength of the bicycle
for compatibility. Maximum capacity of the basket is 20.4 kg (45 Ib) capacity rear and 10 kg (22 Ib) front. Do not
exceed the permisiable load of the bicycle. Do not modify the basket. This basket is not designed to pull a trailer.
This basket is not designed to attach a child seat. AWARNING: The bicycle may behave differently with regard to
steering and braking when basket is loaded. AAWARNING: Ensure that any luggage in the basket is secure with
no loose straps or other items that can get caught in the wheel when riding. Ensure that luggage does not obstruct
any reflectors or lamps. Distribute load of luggage evenly from side to side.

Slackburn §

Customer Service: 1-800-456-2355
Blackburndesign.com
Printed in China ®




LO CAL BAS KETN Visitez www.blackburndesign.com pour obtenir les mises a jour de ce document. LI FETI M E

Z;Jr;%;gg]_al?gs / Gepacktrager Aktualisierungen dieses Dokuments erhalten Sie unter www.blackburndesign.com. WARRANTY

Slackburn

AVERTISSEMENT : \érifier périodiquement le serrage de tous les écrous et boulons. Customer Service: 1-800-456-2355
WARNUNG: Uberprifen Sie regelmaBig alle Schrauben und Muttern auf festen Sitz. Blackburndesign.com

Printed in China ®

WARNING: Periodically check all nuts and bolts for tightness.




